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10. Vicky's salary is 75% more than Ashu’s . Vicky 10.fa5®t &1 a9 AR ¥ 75% oiftre g1 it & a1 #

got a raise of 40% on his salary while Ashugot  40% ®! gfe gldl & Wald MY & a7 H 25%
a raise of 25% on his salary. By what percent is j@ giat %I fa®t &1 a9 AR ¥ d99 A fFaa

Vicky's salary more than Ashuf? ufawrg siftr® %7
BB o AR TS/
V4
\AG _;/, X )rr_.a-» \)./(6% Ii‘\) ’ —
b. 51.1% /__&%— b.51.1% Pl h
c. 90% C— c. 90% \L+’3/ "H“/i
d 52.1% =7 d.52.1% l j,\
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11. An ore contains 25% of an alloy that has 90% 11.0% 0% | 25% iy urg gt 3 o 90% et

iron. Other than this, in the remaining 75% of
the ore, there is no iron. How many kilograms

of the ore are needed to obtain 60 kg of pure

iron? RL-S \QY Bt P IWK()\
a. 250kg ] . [
b. 275kg (| /wﬁ-f\"

c. 300 kg

\y 266.66 kg

X6

11 1 5 T 75% 9w A i T 21 60
fratam & @ieT ura &1 & o fFa feaum
TP B ATAAHAT gHIN?

7N \(_8
a. 250 foar
- ?w/\w

NO [

 d- 266.66
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12. At an election, thearﬁiftew/hogot 56% of 12.U® g-T1a #, o Inflgar &t s1a ¢ wal # 4 56%

the votes cast won by 144 votes. Find the total
numbers of voters on the voting list if 80%

people cast their vote and there were no

invalid votes. )é/ Ok \/ \/

na fia, < @ ¥ Sita mar af¢ 80% @i A
waer fFar ok 31 srdy wa T8 u1, @ HaeH gt

ﬁmﬁﬁwmmml
a. 360 g-%/ Ll L7/
b.720
c. 1800

\d. 1500






3S %S percentage

SR IS
b S

13. In an election between two candidates, Bibhas 13.3! IWflgaR| & a9 t& q-1qd #4, faus +1 P ay

gets 65% of the total valid votes. If the total Hdl &1 65% fhaaf_%l Uﬁ Pd E?l 6000 ’), at ﬁl

ol # |/ 25% Ay Ot g1 W gR Suflgar

votes were 6000, what is the number of valid

votes that the other candidate Manish gets if 1y &t fraa au wa ek
25% of the total votes were declared invalid ? ?’Y/ 6

3 - ; OK Y & ? o\ L
a. 1625 S / L, % a. 1625 -3
b. 1527 Yoy b. 1527 T’,- NN
¢,/ 1575 = 43 X} TS | 157 2
d. 1525 — 135+ (T d.1525 ¥ L( K2

:/3‘93\
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14. A number is mistakenly divided by 5 instead of 14.U% W& & Tadl 4 5 F 0N B4 & d9d 5 |
being multiplied by 5. Find the percentage fauira &% f3ar wiran 81 39 7@t & sRor yRomm

change in the result due to this mistake. # ufa=ra uRkad= g sifom)
a. 96% a. 96%

b. 95% b. 95%

c. 2400% c. 2400%

d. can'tsay d. BT -Tel ol HPbdl






15. In a medical certificate, by mistake a candidate

gave his height as 25% more than normal. In
the interview panel, he clarified that his height
was 5 feet 5 inches. Find the percentage
correction made by the candidate from his
stated height to his actual height.

20
28.56
25
16.66

e p oo

Percentage

15. 9f8wa aféfede d ve sngdf 3 wadt F st
daTs | | 25 wfawra sarer aar fdan geveg e
# I 9w fFar fF It gge 5 Wie 5 9 g
Al gRT ITS! TS TS FHUE A IHP! IRAfAD
&uars ga= | far mar wfdwra gur 39 s

a. 20
b. 28.56
C. 25
d. 16.66






Percentage

16. In an examination, 80% students passed in 16 u® ufiam # 80% faendf wifast & 70% @+
physics, 70% in chemistry while 15% failed in fagm & S<hiof 819 & safd 15% 31 fawat & sr=itof
both the subjects. If 325 students passed in gra &1 afe 325 faemdf a1 fawat # Sl gui adtan
both the subjects. Find the total number of # SufRa g1 aa faanfdal &t @ S=nm 3@

students who appeared in the examination. Fifeg|

a. 500 a. 500
b. 400 b. 400
c. 300 c. 300
d. 600 d. 600
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17. In a town, 45% of the population read 17. TP s ﬁ, 45% \':Flﬁ'@T ﬂﬁﬂ A Qz?ﬁ %,

magazine A, 55% read magazine B, 40% read
magazine C, 30% read magazines A and B, 15%
read magazines Band C, 25% read magazines A
and C; and 10% read all the three magazines.

What percentage do not read any magazine?

a. 10%
b. 15%
c. 20%
d 25%

55% URA®T B Ugd! 8, 40% UMAST C Ugd! &,
30% U1 A 3R B Ul §, 15% U1 B 3R
C Ugdl 2, 25% URPT A 3R C Ugdl ?; 3R 10%
3 T4 afiere uedt 21 fram ufawe & #18
LIECIE R OE

a. 10%

b. 15%

c. 20%

d. 25%






18. In a class, 60% of students are from India and
50% of the students are girls. If 30% of the
Indian students are girls,then what percentage

of foreign students are boys ?
UPSC PT 2021
a.45%
b. 40%
c. 30%

e

Percentage

18.U% ®& #, 60% faendf wra @ § ik 50% faemdf

wefeal g1 afe 30% wrRdr el asfear g @
fag=ht faenffaY &1 fra=n ufawa as& &2

UPSC PT 2021

/°°<§_°‘E)

a.45% 'L\e(

b.40%

%%6@4
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19. If the price of an article is decreased by 20% 19.4f¢ foruit a¥yq @ PG H 20% Dt FH gl 8 MR

and then the new price is increased by 25%, UH: T§ PIHd # 25% D1 g P I Sl 8, A S |

then what is the net change in the price? b ufad= feaan 82
UPSC PT 2021 _%7 UPSC PT 2021
J/ ) 01) Fope ot T
: 5% increase — g_ > Iy \{:gﬁ qu;\) - b T {C’\\
: 24 ; S

c. 5% decrease — D c. 5% I HHI j
— 9O

d. Cannot be determined due to insufficient d. 3rqata 2T F PR Autfa Hﬁ fooar ot 9Far
data
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20. The increase in the price of a certain item was 20.U% fAf¥a avg @t Fiua & 25% @t gfS gl g1 fe
25%. Then the price was decreased by 20% and  HIHd # 20% @I HH! B! STt 3R BT 10% 1 IS
then again increased by 10%. What is the P ST B aﬂwaﬁuﬁwrﬁq@ﬁraﬁﬁaﬁ%?

resultant increase in the price?

UPSC PT 2022 UPSC PT 2022
0 6 X o +47/ -) ,
a. 5 A as%(7 ‘LB//P —7'\’/?—\"0/‘“?
e R lew 0
10% b S 1y
c. 25% \{::f% %
d. 15% d. 15% ~







number y, the sum becomes 165% of the value STl 8, °f AT y & HIF BT 165% 81 1T 8 | 5d F&
of y. When 60% of the number x is added to x BT 60% Bt 37 "& z # SieT &rar 8, 9 9 2
another number z, then the sum becomes ¥ | BT 165% & ol g1 Fufeafaa & | s=-a1
165% of the value of z. Which one of the el 82
following is correct? , UPSC PT 2022

= | eo

UPSC PT 2022

G y<xX®ezZ ¢ y<x<2z 7?\7~2 = {C
d z<y<x d. z<y<x :;l"’\,\) T¢T>






80% of voters cast their vote and there were no
invalid votes. There was no NOTA (None of the
above) option. X got 56% of the votes cast and
won by 1440 votes. What is the total number

of voters in the voters list?

\aﬁooo

b. 12000
c. 9600
d. 5000

UPSC PT 2022

Percentage

22. Two candidates X and Y contested an election. 22 @ IuflcaR X 3R Y A TP g1d 9311 80% Hagrarsii

 gaeH fFar sk 1 Wt @y wa 8 Ul Aer
Rudad | | PIg A6l) BT BIS [dPded ol 4TI X DI
STd T Hal # & 56% Wa frd o 98 1440 wal |
Siid 4TI Hdaerar gat # $d Hdagars # Ee
fait 82

UPSC PT 2022
a. 15000

b. 12000
c. 9600
d. 5000
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23. A’pie chart gives the expenditure on five 23.U% gd aRE | wmﬁfmaﬁ;mqﬁ;\, B,
CCDIREWAT S eufar 21 I B, C, D AR E
HH: 90°, 50°, 45° 3R 75° F ATEY &, ?ﬁﬂ?.AW

different items A, B, C, D and E in a household.
If B, C, D and E correspond to 90°, 50°, 45° and
75° respectively, then what is the percentage

of expenditure on item A?
UPSC PT 2022

a. 112/9 ok
b. 125/6 _’ G\[)‘ X 1=

c. 155/9 3@%
\/220/9 7 e

&g &1 yfawd feaar &2

a. 112/9
b. 125/6
c. 155

d. 250/9

UPSC PT 2022
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